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Answers MA 15200X Exam 1

Form A
B | and Il only
C {6, % J4, 3.343434...}
(X+y)—4=—4+(X+Y)
A underestimates by 3
A oy
E 0.00156
E 4a’b*c/2a
B 9
D X —4x+4
D (2x+3)(2x—3) =4x* -9
A 5x—2
A 6a° +12a° — 48a — 6a(a + 4)(a - 2)
B (x=2)(x-3)
X
C -5x
(x = 6)(x + 4)(x — 1)
A X

5(x +5)

Form B
D | and Il only
A {6, % J4, 3.343434...}
E (X+Y)—4=—4+(x+Y)
C underestimates by 3
D 279

2Xxy
B 0.00156
C 4a’h?c+/2a
A 9
B X —4x+4
E (2x+3)(2x—3) =4x* -9
D 5x—2
A 6a° +12a° — 48a — 6a(a + 4)(a — 2)
E (x=2)(x—3)

X

B —5x

(x=6)(x+4)(x-1)
E X

5(x+5)



